2021 4F 10 A 26 H

[ 6-1
D= {(z,y) | 2?2 +y? <4z} T 3.
(1) S D 3D X5 %MEH ?

(2) #IR D OMPEETORR D' ZRD K. (BIZIXFERAD, FE 1 OFOMERTORRIZ
{(r,0)|0<r<1m»20<0<2r} 2k3%.)

(3) XOMEDZEIHYE X.
// (x2 + yz)dxdy
D

i 6-2

MTozrhrhiconWT _&EES ZitEw k.

(1) Di={(z.y) [1<a+y2 <4} DL %

1
//D P e dzdy

(2) Da={(z,y) |1 <22 +y> <4 D>DO2,y>0} DL &

X
" dad
//Dz 242 Y

(3) D3 ={(z,y) |4<42>+ 2 <9} DL &

// e3® +3v° dxdy
D3



fd 6-3

RDBKIEGT % KD &
L Ty
y
— | da
/_1 (/_@ 1+ 22 +y2>
fE 6-4

g C 2R r =sin30 TED 3

(1) i C ORIY % Rre k.
(2) i C N 7RO HRE R &

FalFE 6-a
RO GRS & RD K.

/02 (/\/1%(:8 + yz)dy> dx

&3 6-b

D={(z,y) |42® +y? < dax} DL &

1
dxd
//D VIt 2z —1)2 +¢2 Y

R L.



